# THE EQUILIBRIUM OF AN ELASTIC SPACE WEAKENED BY TWO SPHERICAL CAVITIES AND AN EXTERNAL CIRCULAR CRACK $\dagger$ 

P. V. Martynenko and A. I. Solov'yev

Khar'kov
(Received 1 December 1992)


#### Abstract

Using the relationship between the basic solutions of Laplace's equation in toroidal and spherical coordinates, the Fourier method is employed to solve the problem of the equilibrium of an elastic space weakened by two spherical cavities and an external circular crack. The proposed approach leads to an infinite system of linear algebraic equations of the second kind with exponentially decaying matrix coefficients. A small-parameter expansion is used to obtain an asymptotic formula for the normal stress intensity factor.


1. Let $\alpha, \beta, \varphi ; \alpha, \sigma, \varphi ; r, \theta, \varphi ; r_{1}, \theta_{1}, \varphi_{1}, \rho, z, \varphi ; \rho_{1}, z_{1}, \varphi_{1}$ be toroidal, spherical, and cylindrical coordinates defined by the following formulae [1-3]

$$
\begin{aligned}
& x=a h_{\beta}^{-2} \operatorname{sh} \alpha \cos \varphi, \quad y=a h_{\beta}^{-2} \operatorname{sh} \alpha \sin \varphi, \quad z=a h_{\beta}^{-2} \sin \beta \\
& x=a h_{\sigma}^{-2} \operatorname{sh} \alpha \cos \varphi, \quad y=a h_{\sigma}^{-2} \operatorname{sh} \alpha \sin \varphi, \quad z=a h_{\sigma}^{-2} \sin \sigma \\
& x=r \sin \theta \cos \varphi, \quad y=r \sin \theta \sin \varphi, \quad z=r \cos \theta \\
& x=\rho \cos \varphi, \quad y=\rho \sin \varphi, \quad z=z \\
& x_{1}=x, \quad y_{1}=y, \quad z_{1}=z-h \\
& \rho_{1}=\rho, \quad z_{1}=z-h ; \quad \rho_{1}=r_{1} \sin \theta_{1}, \quad z_{1}=r_{1} \cos \theta_{1} \\
& \left(a>0, \quad h \geqslant 0 ; \quad 0 \leqslant \alpha, \rho, \rho_{1}, r, r_{1}<\infty ; \quad-\infty<z, z_{1}<\infty, \quad-\pi \leqslant \beta, \sigma \leqslant \pi,\right. \\
& 0 \leqslant \varphi \leqslant 2 \pi, \quad 0 \leqslant \theta, \theta_{1} \leqslant \pi, \\
& h_{\beta}=\sqrt{\operatorname{ch} \alpha+\cos \beta}, \quad h_{\sigma}=\sqrt{\operatorname{ch} \alpha-\cos \sigma}
\end{aligned}
$$

In the case of a homogeneous isotropic elastic body the equilibrium equations can be reduced to the Lame vector equation

$$
\begin{equation*}
\frac{1}{1-2 v} \operatorname{grad} \operatorname{div} u+\Delta u=0 \tag{1.1}
\end{equation*}
$$

Here $\mathbf{u}$ is the elastic displacement vector and $v$ is Poisson's ratio.
The relationships between the basic solutions of (1.1) in spherical and toroidal coordinates can be obtained from the following equalities relating the basic solutions of Laplace's equation in these coordinates (the factor $e^{i m \varphi}$ is omitted on both sides of each equality)

$$
\begin{align*}
& \left(\frac{a}{r_{1}}\right)^{n+1} P_{n}^{m}\left(\cos \theta_{1}\right)=h_{\sigma} \int_{-\infty}^{\infty} b_{n}^{(m)}(\tau) e^{\tau \sigma} P_{-1 / 2+i \tau}^{m}(\operatorname{ch} \alpha) d \tau  \tag{1.2}\\
& \left(-\pi-2 \operatorname{arctg} \frac{h}{a}<\sigma<\pi-2 \operatorname{arctg} \frac{h}{a}\right) \\
& h_{\beta} e^{-\tau p} P_{-1 / 2+i \tau}^{m}(\operatorname{ch} \alpha)=\sum_{n=0}^{\infty} c_{n}^{(m)}(\tau)\left(\frac{r_{1}}{a}\right)^{n+m} P_{n+m}^{m}\left(\cos \theta_{1}\right)  \tag{1.3}\\
& \left(r_{1}<\sqrt{a^{2}+h^{2}}\right) \\
& \left(\frac{r_{1}}{a}\right)^{n} P_{n}^{m}\left(\cos \theta_{1}\right)=h_{\beta} \int_{-\infty}^{\infty} a_{n}^{(m)}(\tau) e^{\tau \beta} P_{-1 / 2+i \tau}^{m}(\operatorname{ch} \alpha) d \tau(|\beta|<\pi)  \tag{1.4}\\
& h_{0} e^{-\tau \infty} P_{-1 / 2}^{m}+i \tau  \tag{1.5}\\
& (\operatorname{ch} \alpha)=\sum_{n=0}^{\infty} d_{n}^{(m)}(\tau)\left(\frac{a}{r_{1}}\right)^{n+m+1} P_{n+m}^{m}\left(\cos \theta_{1}\right) \\
& \left(r_{1}>\sqrt{a^{2}+h^{2}}\right)
\end{align*}
$$

Here

$$
\begin{aligned}
& a_{n}^{(m)}(\tau)=(-i)^{n-m} \frac{2^{m-1 / 2}(n+m)!}{(2 m)!(n-m)!}(1-i \varepsilon)^{n-m} \frac{F(m-n, 1 / 2-i \tau+m ; 2 m+1 ; \gamma)}{\operatorname{ch} \pi \tau} \\
& b_{n}^{(m)}(\tau)=\frac{a_{n}^{(m)}(\tau)}{\left(1+\varepsilon^{2}\right)^{n+1 / 2}} e^{2 \tau \text { arctg } \varepsilon}, \quad c_{n}^{(m)}(\tau)=\frac{d_{n}^{(m)}(\tau)}{\left(1+\varepsilon^{2}\right)^{n+m+1 / 2}} e^{-2 \tau \operatorname{arctg} \varepsilon}, \\
& d_{n}^{(m)}(\tau)=\frac{(-1)^{m}(-i)^{n} 2^{m+1 / 2}}{(2 m)!} \frac{\Gamma(1 / 2+i \tau+m)}{\Gamma(1 / 2+i \tau-m)}(1-i \varepsilon)^{n} F(-n, 1 / 2+i \tau+m ; 2 m+1 ; \gamma) \\
& F(-n, a ; c ; z)=\sum_{m=0}^{n} \frac{(a)_{m}(-n)_{m}}{(c)_{m} m!} z^{m}, \quad \varepsilon=\frac{h}{a}, \\
& (\alpha)_{m}=\alpha(\alpha+1) \ldots(\alpha+m-1), \quad \gamma=\frac{2}{1-i \varepsilon}
\end{aligned}
$$

$p_{n}^{m}(x)$ are associated Legendre polynomials, $P_{v}^{m}(z)$ are associated Legendre functions of the first kind, $\Gamma(z)$ is the gamma-function, $F(-n, a ; c ; z)$ is the hypergeometric polynomial in $z$, and $(\alpha)_{m}$ is the Pochhammer symbol $[3,4]$.

The method of obtaining expansions of the type (1.2)-(1.5) and using them to solve the scalar and vector boundary-value problems of elasticity theory is well known [5-7]. For $m=1$ the expansions (1.2)-(1.5) enable us to study a number of problems on twisting: (a) a body $\beta_{1} \leqslant \beta \leqslant \beta_{2}$ weakened by a spherical cavity $0 \leqslant r_{1} \leqslant R$ or several disjoint spherical cavities with centres on the $z$ axis; (b) a sphere $0 \leqslant r_{1} \leqslant R$ with a cavity $\beta_{1} \leqslant \beta \leqslant \beta_{2}$.
2. Let $\rho_{2}, z_{2}, \varphi_{2} ; r_{2}, \theta_{2}, \varphi_{2}$ be the cylindrical and spherical coordinates defined by

$$
\rho_{2}=r_{2} \sin \theta_{2}, \quad z_{2}=r_{2} \cos \theta_{2} ; \quad \rho_{2}=\rho_{1}, \quad z_{2}=-z_{1}-2 h=-z-h
$$

We will consider the equilibrium problem for an elastic space weakened by two spherical cavities $0 \leqslant r_{1} \leqslant R$ and $0 \leqslant r_{2} \leqslant R$ symmetrical about the plane $z=0$ and an external circular crack (cut) $\beta= \pm \pi$ (see Fig. 1). We will confine ourselves to the case when the crack edges are free from any external forces and do not touch one another, while the surfaces of the cavities are


Fig. 1.
subject to a hydrostatic pressure of intensity $\sigma_{0}>0$.
The corresponding boundary conditions have the form

$$
\begin{gather*}
\left.\sigma_{r 1}\right|_{r_{1}=R}=\left.\sigma_{r 2}\right|_{r_{2}=R}=-\sigma_{0}  \tag{2.1}\\
\left.\tau_{r \theta 1}\right|_{\eta=R}=\left.\tau_{r \theta 2}\right|_{2=R}=0 ;\left.\quad \sigma_{2}\right|_{\beta= \pm \pi}=0,\left.\quad \tau_{\rho z}\right|_{\beta= \pm \pi}=0 \tag{2.2}
\end{gather*}
$$

( $\sigma_{r j}, \tau_{r 0 j}, \sigma_{z}, \tau_{\rho z}$ are the components of the stress tensor in spherical and cylindrical coordinates).

We will represent the general solution of the vector equation (1.1) in the form

$$
\begin{align*}
& \mathbf{u}=\left(\kappa e_{z}-z \operatorname{grad}\right) \Phi+\left(\kappa e_{z 1}-z_{1} \operatorname{grad}\right) F_{1}+\left(\kappa e_{z 2}-z_{2} \operatorname{grad}\right) F_{2}-\operatorname{grad}(\varphi+f+\Psi)  \tag{2.3}\\
& \Phi=h_{\beta} \int_{0}^{\infty} A(\tau) P_{-1 / 2+i \tau}(\operatorname{ch} \alpha) \operatorname{sh} \tau \beta \mathrm{d} \tau, \quad \frac{\partial \varphi}{f z}=(1-2 v) \Phi \\
& F_{1}=\sum_{n=1}^{\infty}(2 n-1) B_{n}^{(1)} r_{1}^{-n} P_{n-1}\left(\cos \theta_{1}\right), \quad F_{2}=\sum_{n=1}^{\infty}(2 n-1) B_{n}^{(1)} r_{2}^{-n} P_{n-1}\left(\cos \theta_{2}\right) \\
& f=-\sum_{n=1}^{\infty}(n+3-4 v) B_{n}^{(1)}\left[r_{1}^{-(n-1)} P_{n-2}\left(\cos \theta_{1}\right)+r_{2}^{-(n-1)} P_{n-2}\left(\cos \theta_{2}\right)\right] \\
& \Psi=-\sum_{n=0}^{\infty} B_{n}^{(2)}\left[r_{1}^{-n-1} P_{n}\left(\cos \theta_{1}\right)+r_{2}^{-n-1} P_{n}\left(\cos \theta_{2}\right)\right]
\end{align*}
$$

$\left(z_{1}=z-h, z_{2}=-z-h ; \kappa=3-4 v, \mathbf{e}_{z 1}, \mathbf{e}_{z 2}, \mathbf{e}_{z}\right.$ are the unit vectors of the corresponding systems of coordinates), which ensures that (2.2) is an identity.

On verifying boundary conditions (2.1) using the decomposition formulae

$$
\begin{aligned}
& r_{1}^{-n} P_{n-1}\left(\cos \theta_{1}\right)=a^{-n} h_{\sigma} \int_{-\infty}^{\infty} b_{n-1}^{(0)}(\tau) e^{\tau \sigma} P_{-Y_{2}+i t}(\operatorname{ch} \alpha) d \tau \\
& \dot{h}_{\beta} P_{-1 / 2}+i \tau \\
& (\operatorname{ch} \alpha) \operatorname{sh} \tau \beta=-\sum_{n=0}^{\infty} \bar{c}_{n}(\tau) a^{n} r_{1}^{-n} P_{n}\left(\cos \theta_{1}\right) \\
& r_{2}^{-n-1} P_{n}\left(\cos \theta_{2}\right)=(2 h)^{-n-1} \sum_{k=0}^{\infty}(-1)^{n+k} \frac{(n+k)!}{n!k!}(2 h)^{-k} r_{1}^{k} P_{k}\left(\cos \theta_{1}\right)(r 1<2 h) \\
& \bar{c}_{n}(\tau)=1 / 2\left[c_{n}^{(0)}(\tau)-c_{n}^{(0)}(-\tau)\right]
\end{aligned}
$$

which follow from (1.2) and (1.3) and the equality [8]

$$
\sum_{k=0}^{\infty} \frac{(a)_{k}}{k!} t^{k} P_{k}(x)=w^{-a / 2} F\left(a, 1-a ; 1 ; 1 / 2-\frac{1-t x}{2 \sqrt{w}}\right) \quad\left(w=1-2 t x+t^{2}\right)
$$

for $a=n+1, t=-r_{1} /(2 h)$ and $x=\cos \theta_{1}$, after some reduction we find the following system of relationships between the integral density $A(\tau)$ and the coefficients $B_{n}^{(1)}$ and $B_{n}^{(2)}$

$$
\begin{aligned}
& B_{1}^{(1)}=0 \\
& A(\tau)=-\sum_{n=2}^{\infty} B_{n}^{(1)} a^{-n}\left(n^{2}-2 n-1+2 v\right) \frac{\bar{b}_{n-1}(\tau)}{c h \pi \tau}-\sum_{n=2}^{\infty} n(2 n-1) B_{n}^{(1)} h a^{-n-1} \frac{\bar{b}_{n}(\tau)}{c h \pi \tau}- \\
& -\sum_{n=0}^{\infty}(n+1) B_{n}^{(2)} a^{-n-2} \frac{\bar{b}_{n+1}(\tau)}{\operatorname{ch\pi \tau }} \\
& B_{0}^{(2)} R^{-3}=\frac{1+v}{3} \sum_{n=2}^{\infty}(-1)^{n} n(2 n-1)(2 h)^{-n-1} B_{n}^{(i)}+\frac{1+v}{3} a^{-1} q_{1}-\frac{\sigma_{0}}{4 G} \\
& -B_{k}^{(1)} R^{-k} k\left(k^{2}+3 k-2 v\right)+B_{k}^{(2)} R^{-k-2}(k+1)(k+2)= \\
& =-\sum_{n=2}^{\infty} B_{n}^{(1)}(-1)^{n+k} \frac{(n+k)!}{(n-1)!k!} \frac{2 n-1}{2 k+3}\left(k^{2}-k-2-2 v\right) \frac{R^{k-1}}{(2 h)^{r+k-1}-} \\
& -\sum_{n=2}^{\infty} B_{n}^{(1)}(-1)^{n+k-1} \frac{(n+k-1)!(k-1)}{(n-1)!(k-1)!} \frac{2 n k-n-k+4-4 v}{2 k-1} \frac{R^{k+1}}{(2 h)^{n+k+1}-} \\
& -\sum_{n=0}^{\infty} B_{n}^{(2)}(-1)^{n+k} \frac{(n+k)!(k-1)}{n!(k-1)!} \frac{R^{k-1}}{(2 h)^{n+k+1}-k(k-1) \frac{h}{a}\left(\frac{R}{a}\right)^{k-1}} q_{k}- \\
& -\frac{k+1}{2 k+3}\left(k^{2}-k-2-2 v\right)\left(\frac{R}{a}\right)^{k+!} \\
& q_{k+1}-\frac{k-1}{2 k-1}\left(k^{2}-2 k-1+2 v\right)\left(\frac{R}{a}\right)^{k-1} q_{k-1} \\
& B_{k}^{(1)} R^{-k} k\left(k^{2}-2+2 v\right)-B_{k}^{(2)} R^{-k-2} k(k+2)= \\
& =-\sum_{n=2}^{\infty} B_{n}^{(1)}(-1)^{n+k} \frac{(n+k)!k}{(n-1)!(k+1)!} \frac{2 n-1}{2 k+3}\left(k^{2}+2 k-1+2 v\right) \frac{R^{k+1}}{(2 h)^{n+k+1}-} \\
& -\sum_{n=2}^{\infty} B_{n}^{(1)}(-1)^{n+k-1} \frac{(n+k-1)!(k-1)}{(n-1)!(k-1)!} \frac{2 n k-n-k+4-4 v}{2 k-1} \frac{R^{k-1}}{(2 h)^{n+k-1}-} \\
& -\sum_{n=0}^{\infty} B_{n}^{(2)}(-1)^{n+k} \frac{(n+k)!(k-1)}{n!(k-1)!} \frac{R^{k-1}}{(2 h)^{n+k+1}-k(k-1) \frac{h}{a}\left(\frac{R}{a}\right)^{k-1} q_{k}-}
\end{aligned}
$$

$$
\begin{aligned}
& -\frac{k}{2 k+3}\left(k^{2}+2 k-1+2 v\right)\left(\frac{R}{a}\right)^{k+1} q_{k+1}-\frac{k-1}{2 k-1}\left(k^{2}-2 k-1+2 v\right)\left(\frac{R}{a}\right)^{k-1} q_{k-1} \\
& (k=1,2, \ldots) \\
& q_{s}=\int_{0}^{\infty} A(\tau) \bar{c}_{s}(\tau) d \tau, \quad \bar{b}_{s}(\tau)=2\left[b_{s}^{(0)}(\tau)-b_{s}^{(0)}(-\tau)\right]
\end{aligned}
$$

Now, eliminating $A(\tau)$ and setting

$$
\begin{aligned}
& \frac{\sigma_{0}}{4 G} \frac{1}{k} R^{k+1} b_{k}^{(1)}=B_{k}^{(1)} \quad(k=2,3 \ldots), \quad \frac{\sigma_{0}}{4 G} \frac{2 k-1}{2 k+1} R^{k+3} b_{k}^{(2)}=B_{k}^{(2)} \quad(k=0,1,2, \ldots) \\
& \omega_{k}=\frac{2\left(k^{2}+2 k v+k+1+v\right)}{(k+2)(2 k-1)(2 k+3)}, \quad \beta_{n k}^{(0)}=\frac{(-1)^{n+k+1}(n+k)!(2 n-1)}{2^{n+k+1} n!(k+1)!} \\
& \Delta_{k}=k^{2}-2 k v+k+1-v, \quad \alpha_{n k}^{(0)}=\frac{(-1)^{n+k}(n+k)!}{2^{n+k+2} \Delta_{k} n!(k-1)!}, \quad \alpha_{k}^{(1)}=\frac{k\left(k^{2}-1\right)}{2 \Delta_{k}} \\
& \alpha_{k}^{(2)}=\frac{k(k-1)(2 k+1)}{2 \Delta_{k}}, \quad \alpha_{k}^{(3)}=\frac{(k-1)(2 k+1)}{2 \Delta_{k}(2 k-1)}\left(k^{2}-2 k-1+2 v\right) \\
& \beta_{n k}^{(1)}=(2 n-1)(k-1), \quad \beta_{n k}^{(2)}=\frac{2 n-1}{2 n+1}(2 k+1)(k-1) \\
& \gamma_{n k}^{(1)}=\frac{4(2 k+1)(k-1)}{(n+k)(2 k-1)}(2 n k-n-k+4-4 v), \quad \gamma_{n}=\frac{n^{2}-2 n-1+2 v}{n} \\
& \delta_{n}=\frac{(n+1)(2 n-1)}{2 n+1}, \quad \lambda=\frac{R}{h}, \quad \varepsilon=\frac{h}{a}
\end{aligned}
$$

we obtain the following infinite system of linear algebraic equations from which to determine $b_{k}^{(1)}$ and $b_{k}^{(2)}$

$$
\begin{align*}
& b_{k}^{(1)}=\sum_{n=2}^{\infty} D_{k n}^{(11)} b_{n}^{(1)}+\sum_{n=0}^{\infty} D_{k n}^{(12)} b_{n}^{(2)} \quad(k=2,3, \ldots)  \tag{2.4}\\
& b_{k}^{(2)}=\sum_{n=2}^{\infty} D_{k n}^{(21)} b_{n}^{(1)}+\sum_{n=0}^{\infty} D_{k n}^{(22)} b_{n}^{(2)}+f_{k}^{(2)} \quad(k=0,1,2, \ldots) \\
& f_{0}^{(2)}=1, \quad f_{k}^{(2)}=0 \quad(k=1,2, \ldots) \\
& D_{0 n}^{(21)}=\frac{1+v}{3}\left[(-1)^{n+1}(2 n-1) 2^{-n-1}+\gamma_{n} \varepsilon^{n+1} J_{n-11}+(2 n-1) \varepsilon^{n+2} J_{n 1}\right] \lambda^{n+1}  \tag{2.5}\\
& D_{0 n}^{(22)}=\frac{1+v}{3} \delta_{n} \varepsilon^{n+3} J_{n+11} \lambda^{n+3} \\
& D_{k n}^{(11)}=\left\{\alpha_{n k}^{(0)} \beta_{n k}^{(1)}-\alpha_{k}^{(1)} \varepsilon^{n+k+1}\left[\gamma_{n} J_{n-1 k+1}+(2 n-1) \varepsilon J_{n k+1}\right]\right\} \lambda^{n+k+1}- \\
& -\left\{\alpha_{n k}^{(0)} \gamma_{n k}^{(1)}+\alpha_{k}^{(2)} \varepsilon^{n+k}\left[\gamma_{n} J_{n-1 k}+(2 n-1) \varepsilon J_{n k}\right]+\right. \\
& \left.+\alpha_{k}^{(3)} \varepsilon^{n+k-1}\left[\gamma_{k} J_{n-1 k-1}+(2 n-1) \varepsilon J_{n k-1}\right]\right] \lambda^{n+k-1} \\
& D_{k n}^{(12)}=\left(\alpha_{n k}^{(0)} \beta_{n k}^{(2)}-\alpha_{k}^{(2)} \varepsilon^{n+k+2} \delta_{n} J_{n+1 k}-\alpha_{k}^{(3)} \varepsilon^{n+k+1} \delta_{n} J_{n+1 k-1}\right) \lambda^{n+k+1}- \\
& -\alpha_{k}^{(1)} \varepsilon^{n+k+3} \delta_{n} J_{n+1 k+1} \lambda^{n+k+3} \\
& D_{k n}^{(21)}=D_{k n}^{(11)}-\left[\beta_{n k}^{(0)}+\gamma_{n} \varepsilon^{n+k+1} J_{n-1 k+1}+(2 n-1) \varepsilon^{n+k+2} J_{n k+1}\right] \omega_{k} \lambda^{n+k+1} \\
& D_{k n}^{(22)}=D_{k n}^{(12)}-\omega_{k} \delta_{n} \varepsilon^{n+k+3} J_{n+1 k+1} \lambda^{n+k+3} \\
& J_{m k}=\int_{0}^{\infty} \frac{\bar{b}_{m}(\tau) \bar{c}_{k}(\tau)}{\operatorname{ch} \pi \tau} d \tau=1 / 2 J_{m k}^{(1)}-1 / 2 J_{m k}^{(2)}
\end{align*}
$$

$$
J_{m k}^{(1)}=\int_{-\infty}^{\infty} \frac{c_{m}^{(0)}(-\tau) c_{k}^{(0)}(\tau)}{\mathrm{ch}^{2} \pi \tau} d \tau, \quad J_{m k}^{(2)}=\int_{-\infty}^{\infty} \frac{c_{m}^{(0)}(\tau) c_{k}^{(0)}(\tau)}{\mathrm{ch}^{2} \pi \tau} d \tau
$$

Taking into account that [4, 9]

$$
\begin{aligned}
& F(-n ; 1 / 2-i \tau ; 1 ; \gamma)=\sum_{s=0}^{n} \frac{(-n)_{s} \Gamma(1 / 2-i \tau+s)}{(s!)^{2} \Gamma(1 / 2-i \tau)} \gamma^{5}, \quad \frac{\pi}{\operatorname{ch} \pi \tau}=\Gamma(1 / 2+i \tau) \Gamma(1 / 2-i \tau) \\
& \int_{-\infty} \Gamma(1 / 2+i \tau) \Gamma(1 / 2-i \tau) \Gamma(1 / 2-i \tau+j) \Gamma(1 / 2+i \tau+l) d \tau=2 \pi \frac{j!l!}{j+l+1}
\end{aligned}
$$

we can rewrite $J_{m k}^{(1)}$ in the form

$$
\begin{aligned}
& J_{m k}^{(1)}=\frac{4}{\pi}(-i)^{m+k} \frac{(1-i \varepsilon)^{m+k}}{\left(1+\varepsilon^{2}\right)^{m+k+1}} \Sigma_{m k} \\
& \Sigma_{m k}=\sum_{j=0}^{m} \frac{(-m)_{j} \gamma^{j}}{j!} \sum_{l=0}^{k} \frac{(-k)_{l} \gamma^{l}}{l!(j+l+1)}, \quad \gamma=\frac{2}{1-i \varepsilon}
\end{aligned}
$$

Since

$$
\sum_{s=0}^{n} \frac{(-n)_{s}(\gamma x)^{s}}{s!}=(1-\gamma x)^{n}
$$

it follows that

$$
\Sigma_{m k}=\int_{0}^{1}(1-\gamma x)^{m+k} d x=\frac{1-(1-\gamma)^{m+k+1}}{\gamma(m+k+1)}
$$

which implies that

$$
\begin{align*}
& J_{m k}^{(1)}=\frac{2}{\pi} i(-1)^{m+k+1} \frac{(\varepsilon+i)^{m+k+1}-(\varepsilon-i)^{m+k+1}}{(m+k+1)\left(1+\varepsilon^{2}\right)^{m+k+1}}= \\
& =\frac{4}{\pi}(-1)^{m+k} \sum_{j=0}^{m+k+1} C_{m+k+1}^{j} \varepsilon^{j} \sin \frac{\pi(m+k+1-j)}{2} \frac{1}{(m+k+1)\left(1+\varepsilon^{2}\right)^{m+k+1}} \tag{2.6}
\end{align*}
$$

For $J_{m k}^{(2)}$, whose structure is more complex, it is only possible to obtain the recurrent relations

$$
\begin{align*}
& J_{m k+1}^{(2)}=-\frac{1}{2 \varepsilon}\left[J_{m k}^{(2)}+J_{m-1 k+1}^{(2)}\right] \quad(m=1,2, \ldots ; \quad k=0,1,2, \ldots)  \tag{2.7}\\
& J_{0 k+1}^{(2)}=-\frac{1}{2 \varepsilon} J_{0 k}^{(2)}+\frac{2}{\pi} \frac{(-1)^{k}}{\varepsilon(k+1)\left(1+\varepsilon^{2}\right)^{k+1}} \sum_{j=0}^{k+1} C_{k+1}^{j} \varepsilon^{j} \sin \frac{\pi(k+1-j)}{2} \\
& J_{00}^{(2)}=\frac{4}{\pi} \frac{\operatorname{arctg} \varepsilon}{\varepsilon} ; \quad J_{k m}^{(2)}=J_{m k}^{(2)} \quad(m, k=0,1,2, \ldots)
\end{align*}
$$

Formulae (2.6) and (2.7) are suitable for computing the matrix coefficients (2.5) of the infinite system (2.4), but they are of little use in studying the properties of that system. A preliminary analysis of the matrix coefficients indicates that to study the properties of the infinite system (2.4) for various relations between $a, R$, and $h$, it suffices to investigate the behaviour of $J_{m k}^{(2)}(\varepsilon)$ as $m+k \rightarrow \infty$. To estimate $J_{m k}^{(2)(\varepsilon)}$ we use the Cauchy-Bunyakovski inequality

$$
\left[J_{m k}^{(2)}(\varepsilon)\right]^{2} \leqslant J_{m m}^{(2)}(\varepsilon) J_{k k}^{(2)}(\varepsilon) \quad\left(J_{m n}^{(2)}(\varepsilon) \geqslant 0\right)
$$

Representing $J_{n n}^{(2)}(\varepsilon)$ in the form

$$
\begin{aligned}
& J_{n n}^{(2)}(\varepsilon)=\int_{-\infty}^{\infty} \frac{e^{4 \tau \operatorname{arctg} \varepsilon} \operatorname{ch}^{2} \pi \tau}{q_{n}^{2}(\tau) d r, \quad q_{n}^{2}(\tau)>0} \\
& q_{n}(\tau)=(-i)^{n} \sqrt{2} \frac{(1-i \varepsilon)^{n}}{\left(1+\varepsilon^{2}\right)^{n+1 / 2}} F(-n, \not / 2-i \tau ; 1 ; \gamma), \quad \gamma=\frac{2}{1-i \varepsilon}
\end{aligned}
$$

and taking into account that $e^{2 \text { rarage }} \leqslant 2 \operatorname{ch} \pi \tau(0<\varepsilon<\infty,-\infty<\tau<\infty)$, we have the inequality

$$
\begin{aligned}
& J_{n n}^{(2)}(\varepsilon) \leqslant 4(-1)^{n} \frac{(1-i \varepsilon)^{2 n}}{\left(1+\varepsilon^{2}\right)^{2 n+1}} R_{n}(\varepsilon) \\
& R_{m}(\varepsilon)=\int_{-\infty}^{\infty} \frac{e^{2 \tau \operatorname{arctg} \varepsilon}}{\operatorname{ch} \pi \tau} F^{2}(-m, \not / 2-i \tau ; 1 ; \gamma) d \tau=\frac{1}{\pi} \sum_{j=0}^{m} \frac{(-m)_{j} \gamma^{j}}{(j!)^{2}} \sum_{l=0}^{m} \frac{(-m)_{l} \gamma^{l}}{(l!)^{2}} T_{j l} \\
& T_{j l}=\int_{-\infty}^{\infty} e^{2 \tau \operatorname{arctg} \varepsilon} \frac{\Gamma(1 / 2+i \tau)}{\Gamma(1 / 2-i \tau)} \Gamma(1 / 2-i \tau+j) \Gamma(1 / 2-i \tau+l) d \tau= \\
& =2 \pi e^{i \text { acctge}} j!l!!F\left(j+1, l+1 ; 1 ;-e^{2 i \operatorname{arctg} \varepsilon}\right)
\end{aligned}
$$

Now, using the relations [8]

$$
\sum_{l=0}^{\infty} \frac{(a)_{l}\left(b^{\prime}\right)_{l}}{l!\left(c^{\prime}\right)_{l}} t^{l} F(a+l, b ; c ; x)=F_{2}\left(a, b, b^{\prime} ; c ; c^{\prime} ; x ; t\right)
$$

for $a=1, c^{\prime}=1, c=1, b=j+1, b^{\prime}=-m, t=\gamma, x=-\exp (2 i \operatorname{arctg} \varepsilon)$ and

$$
F_{2}\left(a, b, b^{\prime} ; a ; a^{\prime} ; w ; z\right)=(1-w)^{-b}(1-z)^{-b^{\prime}} F\left(b, b^{\prime} ; a ; \frac{w z}{(1-w)(1-z)}\right)
$$

for $a=1, b=j+1, b^{\prime}=-m, t=\gamma, w=-\exp (2 i \operatorname{arctg} \varepsilon), z=\gamma$, after some reduction we arrive at the equality

$$
R_{n}(\varepsilon)=(-1)^{n} \frac{(1+i \varepsilon)^{n}}{(1-i \varepsilon)^{n}} \sqrt{1+\varepsilon^{2}}
$$

It follows that

$$
\begin{equation*}
\left[J_{m k}^{(2)}(\varepsilon)\right]^{2} \leqslant 16\left(1+\varepsilon^{2}\right)^{-m-k-1} \quad(0<\varepsilon<\infty) \tag{2.8}
\end{equation*}
$$

Using (2.8) one can verify that for $0<\lambda<1$ and $i=1,2$

$$
\begin{aligned}
& D_{k n}^{(i)} \sim \alpha_{n k}^{(0)} \beta_{n k}^{(1)} \lambda^{n+k+1}=O\left(n k^{-1}(n+k) e^{-s(n+k+1)}\right) \\
& D_{k n}^{(i)} \sim \alpha_{n k}^{(0)} \beta_{n k}^{(2)} \lambda^{n+k+1}=O\left((n+k) e^{-s(n+k+1)}\right) \quad(n+k \rightarrow \infty, \quad s=-\ln \lambda)
\end{aligned}
$$

i.e. the matrix elements of the infinite system (2.4) for $0<\lambda<1$ decay exponentially in each row and each column. Moreover, for $0<\lambda=R / h<1$

$$
\begin{equation*}
\sum_{k, n=1}^{\infty}\left[D_{k n}^{(i j)}\right]^{2}<\infty, \quad \sum_{n=2}^{\infty}\left[D_{0 n}^{(2 j)}\right]^{2}<\infty, \quad \sum_{k=2}^{\infty}\left[D_{k 0}^{(i 2)}\right]^{2}<\infty \tag{2.9}
\end{equation*}
$$

From (2.9) and the fact that $\left\{f_{k}^{(2)}\right\}$ belongs to the Hilbert space $l_{2}$ of number-valued sequences it follows that for almost all $\lambda \in(0,1)$ a unique solution of the infinite system (2.4) in $l_{2}$ exists, which can be found by the reduction method [10, 11]. The estimates (2.9) enable us to conclude
that the infinite system (2.4) is quasiregular for $0<\lambda<1$ and completely regular for $0<\lambda \leqslant$ $\lambda_{0}<1$ for some $\lambda_{0} \in(0,1)$.

The restriction $0<\lambda<1$ of possible values of $\lambda$ is connected in a natural way with the formulation of the problem in question and means that the spheres $r_{1}=R$ and $r_{2}=R$ do not intersect one another or have a point of contact.

Solving the infinite system (2.4) by the small-parameter method and confining ourselves to those terms that enable us to compute the normal stress intensity factor $K_{1}$ up to the terms of order $\lambda^{6}$ inclusive, we get

$$
\begin{align*}
& b_{2}^{(1)}=d_{0} \lambda^{3}+O\left(\lambda^{4}\right), \quad b_{k}^{(1)}=O\left(\lambda^{k+1}\right) \quad(k=3,4 \ldots)  \tag{2.10}\\
& b_{0}^{(2)}=1+\frac{1+v}{3} \delta_{0} \varepsilon^{3} J_{11} \lambda^{3}+O\left(\lambda^{4}\right), \quad b_{1}^{(2)}=O\left(\lambda^{4}\right) \\
& b_{k}^{(2)}=O\left(\lambda^{k+2}\right) \quad(k=2,3, \ldots) \\
& d_{0}=d_{02}^{(0)} \beta_{02}^{(0)}-\alpha_{2}^{(2)} \varepsilon^{4} \delta_{0} J_{12}-\alpha_{2}^{(3)} \varepsilon^{3} \delta_{0} J_{11} \\
& J_{11}=\frac{1}{\pi}\left[-\frac{1}{\varepsilon^{3}} \operatorname{arctg} \varepsilon+\frac{1}{\varepsilon^{2}\left(1+\varepsilon^{2}\right)}-\frac{2}{3} \frac{1-3 \varepsilon^{2}}{\left(1+\varepsilon^{2}\right)^{2}}\right] \\
& J_{12}=\frac{1}{\pi}\left[\frac{3}{4 \varepsilon^{4}} \operatorname{arctg} \varepsilon-\frac{1}{4 \varepsilon^{3}\left(1+\varepsilon^{2}\right)}-\frac{1}{2 \varepsilon\left(1+\varepsilon^{2}\right)^{2}}+\frac{2}{3} \frac{\left(1-3 \varepsilon^{2}\right)}{\left(1+\varepsilon^{2}\right)^{3}}\right]
\end{align*}
$$

On the basis of the asymptotic solution (2.10), we have

$$
\begin{aligned}
& K_{1}=\lim _{\rho \rightarrow a}\left[\sigma_{2} \sqrt{2(a-\rho)}\right]_{\beta=0}=-\frac{\sigma_{0}}{2} \sqrt{2 a} \sum_{n=0}^{\infty}\left\{b_{n+2}^{(1)}\left[\gamma_{n+2} r_{n+1}+(2 n+3) \varepsilon r_{n+2}\right]+\right. \\
& \left.+b_{n}^{(2)} \delta_{n} r_{n+1}\right\}(\lambda \varepsilon)^{n+3}=\frac{2 \sigma_{0} \sqrt{a}}{\pi}\left(1+\varepsilon^{2}\right)^{-2} \times \\
& \times\left\{1-\varepsilon^{2}+\left[d_{0}\left(\varepsilon^{*}-\gamma_{2}+\gamma_{2} \varepsilon^{2}\right)-\frac{1+v}{3} \varepsilon^{3}\left(1-\varepsilon^{2}\right) J_{11}\right] \lambda^{3}\right\} \varepsilon^{3} \lambda^{3}+O\left(\lambda^{7}\right) ; \\
& \varepsilon^{*}=\frac{3 \varepsilon^{2}\left(3-\varepsilon^{2}\right)}{1+\varepsilon^{2}}, \quad r_{m}=\frac{\sqrt{2}}{\pi}(-1)^{m} \frac{(\varepsilon+i)^{m+1}+(\varepsilon-i)^{m+1}}{\left(1+\varepsilon^{2}\right)^{m+1}}
\end{aligned}
$$

## REFERENCES

1. UFLYAND Ya. S., Integral Transformations in Problems of Elasticity Theory. Nauka, Leningrad, 1967.
2. UFLYAND Ya. S., The Method of Dual Equations in Problems of Mathematical Physica. Nauka, Leningrad, 1977.
3. LEBEDEV N. N., Special Functions and their Applications. Fizmatgiz, Moscow, Leningrad, 1963.
4. BATEMAN H. and ERDELYI. A., Higher Transcendental Functions, Vol. 1, The Hypergeometric Function. The Legendre Function. McGraw-Hill, New York, 1953-55.
5. PROTSENKO V. S. and SOLOV'YEV A. I., The combined use of Cartesian and bipolar coordinates to solve boundary-value problems of potential theory and elasticity theory. Prikl. Mat. Mekh 48, 6, 973-982, 1984.
6. PROTSENKO V. S., SOLOV'YEV A. I. and TSYMBALYUK V. V., Twisting of elastic bodies bounded by the coordinate surfaces of toroidal and spherical systems of coordinates. Prikl. Mat. Mekh. 50, 3, 415-425, 1986.
7. SOLOV'YEV A. I., Elastic equilibrium of circular piecewise homogeneous media with a diametrical crack. Prikl. Mat. Mekh. 51, 5, 853-857, 1987.
8. PRUDNIKOV A. P., BRYCIIKOV Yu. A., and MARICHEV O. I., Integrals and Series, Additional Chapters. Nauka, Moscow, 1986.
9. GRADSHTEIN I. S. and RYZHIK I. M., Tables of Integrals, Sums, Series, and Products. Nauka, Moscow, 1971.
10. KANTOROVICH L. V. and KRYLOV V. I., Approximate Methods of Analysis. Fizmatgiz, Moscow, 1962.
11. KANTOROVICH L. V. and AKILOV G. P., Functional Analysis. Nauka, Moscow, 1977.
